

440 MARINER DR, JUPITER, FL, 33477

https://ritterproperties.com

Discover a unique DOUBLE LOT opportunity in the prestigious Admirals Cove Country Club with this expansive .95-acre property, featuring a residence of approximately 9,316 sq. ft. of living space and 12,022 total sq. ft. This stunning estate boasts very high ceilings, an oversized yard with a sparkling pool, and water views. The home also includes [...]

- 7 hads
- 7 haths
- Residential
- Single Family Residence
- Active
- 9316 sq ft

Basics



Type: Residential **Status:** Active

Bedrooms: 7 beds **Bathrooms: 7** baths

Half baths: 2 half baths **Total rooms:** 11

Area: 9316 sq ft **Lot size, sq ft: 41195** sq ft

SubdivisionName: Admirals Cove **ListOfficeName:** Waterfront Properties & Club C

GarageSpaces: 3 View: Canal

ListAOR: Miami Association of REALTORS® **MLS ID:** A11733527

Rooms



Room type	Dimensions	Area	Length	Width
FamilyRoom	23.8 x 17.6	418.88	23.8	17.6
Kitchen	16.1 x 13.2	212.52	16.1	13.2
PrimaryBedroom	24.6 x 29.5	725.7	24.6	29.5
DiningRoom	16.8 x 13.2	221.76	16.8	13.2
SecondBedroom	15.4 x 17.8	274.12	15.4	17.8
ThirdBedroom	15.4 x 15.9	244.86	15.4	15.9
LivingRoom	25 x 28.3	707.5	25	28.3
Other Room	17.1 x 13.11	224.181	17.1	13.11
Other Room	16.8 x 15.8	265.44	16.8	15.8
FourthBedroom	15.1 x 16.1	243.11	15.1	16.1
FifthBedroom	17.6 x 15.11	265.936	17.6	15.11

Building Details



Cooling features: Central Air, Zoned

ArchitecturalStyle: Detached, Two Story

Building Name: Admirals Cove

Roof: Other

Parking: Circular Driveway, Driveway

Year built: 1995

NewConstructionYN: No

Exterior material: CBS Construction

Heating: Central, Zoned

Amenities & Features

Features: Built-in Features, Closet Cabinetry, Den/Library/Office, Entrance Foyer, Family Room, Fireplace, Great Room, Media Room, Other, Split Bedroom, Utility Room/Laundry, Volume Ceilings,

Walk-In Closet(s), Wet Bar

Amenities: Dishwasher, Dryer, Gas Range,

Refrigerator, Wall Oven

WindowFeatures: Complete Impact Glass,

Impact Glass

PoolFeatures: In Ground, Free Form

GarageYN: Yes CoolingYN: Yes

FireplaceYN: Yes

Spa Features: Community

CommunityFeatures: Boating, Pool, Tennis Court(s), Exercise Room, Gas Metered, Gated Community, Golf Course Community, Golf Purchase Required, Mandatory Hoa, Sauna, Security Patrol, Spa/Hot Tub

ExteriorFeatures: Built-In Grill

Waterfront available: Yes
AttachedGarageYN: Yes

PoolPrivateYN: No

